Fort Worth, Texas 76140

ASSEMBLY INSTRUCTIONS

2453 - KIDS CHALKBOARD
TABLETOP SET WITH
TWO CHAIRS

—_—
L]
~i/
Thank you for purchasing this quality product. Be sure to check all packing
material carefully for small parts which may have come loose inside the
carton during shipment. Separate, identify and count all parts and hardware.
Compare with the parts list to make sure that all parts are included.
"DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED”
~

product will invalidate any claim and
damage this product making unsafe !

*Please assemble on a clean soft
surface to avoid damage.

*Use of power tool to assembie this ﬂ_::___ﬁ
. #“

(Not included)

IMPORTANT:
PLEASE READ INSTRUCTION BEFORE STARTING THE ASSEMBLY

o 7




- ~

Identifying the Hardware-identify the hardware using the illustrations below.

g
; Qty ) Gty Al
1 3/16" Screw (3.5 x 30mm) 1 3/16" Wooden Dowel (8 x 30mm)

D [ o, &

\ *Full size screws and bolts, for conference. /




MR A
About the Wood and Finish

This product has been carefully erafted of: MDE, solid pine
wood and/or pine veneers. These materials derive from
plantations, a renewable and well managed forest, therefore,
‘not endangering the environment. The highest quality
standards have been implemented to assure a sturdy and '
reliable product. Due to the natural variances in the
graining of wood, you may notice

\ j '- ) subtle differences in the
k\‘ \ /= shading and tone of the
‘k W / color stain, warp, holes,
y wood knots and also small

%
\ |
r

\

cracks. This is not a defect. =
But rather a result of the |
» natural beauty of the wood |
4 13 itsel

Care and

maintenance:

Dust when neéded using -
a smooth, dry cloth. |
Household furniture
polish can be used
occasionally to restore luster.



6453 - CHALKBOARD TABLETOP

_~




[o]

[a]

- )

D

hel

[e)

(o] .

© ,

> \ ////

02




f m— | oy
C S 12
% 1 3/16" Wooden Dowel

PLEASE ASSEMBLE THE TABLE ON THE GROUND,
BUT FIRST PLACE SOME PROTECTIVE MATERIAL,
SUCH AS A CARDBOARD BOX OR ARUG, ON THE
FLOOR TO PREVENT ANY DAMAGE TO THE TABLE.

L CHALKBOARD B
\

IR
1 3/16" Screw J




==
o AN
L

INSERT AND ATTACH

_____ BOLTS (A) BUT
_— DO NOT TIGHTEN
UNTIL STEP #7

A © [rmmmmms &
A ﬁ N o, 6’4}

PLEASE ASSEMBLE THE TABLE ON THE GROUND,
BUT FIRST PLACE SOME PROTECTIVE MATERIAL,

_T'

o~
03}

SUCH AS A CARDBOARD BOX OR ARUG, ON THE

=)

FLOOR TO PREVENT ANY DAMAGE TO THE TABLE.

1 3/16" Screw




\

GENTLY MOVE THE
SIDES TO FIT THE SHELVES

/| OPENA
LITTLE

LITTLE

AFTER PLACING THE SHELVES ~ ©°
TIGHTEN THE SCREWS T

D N Allen ¥
i 2 wrench 01
.

~

aty

8

2 %" Bolt j

o




1 3/16" Screw

1 3/16" Screw

['B @ -*.\‘.\"‘..\"-.\w,\“.\\\n\'\\'-\x\‘.\“.\»




2453 - CHAIRS

~




11 A

PLEASE ASSEMBLE THE CHAIR ON THE GROUND,
BUT FIRST PLACE SOME PROTECTIVE MATERIAL,
SUCH AS A CARDBOARD BOX OR A RUG, ON THE
FLOOR TO PREVENT ANY DAMAGE TO THE CHAIR.

[D Y ot 6’1]

2 %" Bolt

[mm:xmm 5‘5} [D N e, 5’4}

)




IRERERRNRRNNANY
2 %" Bolt

o o [D Nx::ﬁzha‘a]

[c = 3:,,]
\ 1 3/16" Wooden Dowel




il Alen @

Jlo ™

IS §;
- 04

)

== 3

08
1 3/16" Wooden Dowel J




[+ © [roumammm

2 %" Boit

@ {D N e

J

JANTYRRRVRRYRNRRIAN

)
L '~ 2%" Bolt

D I e 6‘4]







